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Read the passage and answer the question that follows by choosing the most
appropriate option:

As a result of increasing human population and impact of its activities on
natural resources, Earth's environment has undergone significant changes,
especially during the latter half of the twentieth century.

One of the changes is an increase in the concentration of Carbon dioxide and
other greenhouse gases in the lower layers and Ozone depletion in the upper
layers of the atmosphere causing a gradual increase in surface air temperature.
The Earth has been suffering from fever and the two lead culprits of this
phenomenon are Carbon emissions and Ozone depleting substances.

A warmer world will have both beneficial and harmful effects but poor nations
in the tropics will suffer the most.

Some areas will benefit because of less severe winters, more precipitation in
some dry areas, less precipitation in wet areas and increased food production.
Some plant and animal species adapted to higher temperatures may be able to
expand their population and range.

Other areas will suffer from excessive heat, lack of water and decreased food
production. Wildfires in forests and grasslands are likely to increase where the
climate becomes drier. Trees would suffer from diseases and pest population
would go up. Plants and animal species, unable to migrate or adapt to higher
temperatures, are likely to be reduced.

Shifts in regional climate will also threaten parks, wild reserves, wetlands and
coral reefs. Other ecosystems likely to be disrupted are polar seas, coastal
wetlands, alpine tundra, and high altitude mountain tops. So climate change
has become one of the prime issues threatening the sustainability of the
World's environment.

Extremely warm climate will affect some areas as follows:

1. Lack of water will reduce food production and wildfires in forest will be
rampant.

2. Grassland will be greener.

3. Large sections of the human population will migrate to other areas.

4. Population of plants and animals will increase.

Options:-

.1, OptionID :- 9,

« 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 1, Option ID : -9

Question ID:- 2




Read the passage and answer the question that follows by choosing the most
appropriate option:

As a result of increasing human population and impact of its activities on
natural resources, Earth's environment has undergone significant changes,
especially during the latter half of the twentieth century.

One of the changes is an increase in the concentration of Carbon dioxide and
other greenhouse gases in the lower layers and Ozone depletion in the upper
layers of the atmosphere causing a gradual increase in surface air temperature.
The Earth has been suffering from fever and the two lead culprits of this
phenomenon are Carbon emissions and Ozone depleting substances.

A warmer world will have both beneficial and harmful effects but poor nations
in the tropics will suffer the most.

Some areas will benefit because of less severe winters, more precipitation in
some dry areas, less precipitation in wet areas and increased food production.
Some plant and animal species adapted to higher temperatures may be able to
expand their population and range.

Cther areas will suffer from excessive heat, lack of water and decreased food
production. Wildfires in forests and grasslands are likely to increase where the
climate becomes drier. Trees would suffer from diseases and pest population
would go up. Plants and animal species, unable to migrate or adapt to higher
temperatures, are likely to be reduced.

Shifts in regional climate will also threaten parks, wild reserves, wetlands and
coral reefs. Other ecosystems likely to be disrupted are polar seas, coastal
wetlands, alpine tundra, and high altitude mountain tops. So climate change
has become one of the prime issues threatening the sustainability of the
World's environment.

A warmer world is the result of

1. enhanced effect of greenhouse gases

2. air pollution

3. ozone depletion

4. carbon emission and ozone depleting substances

Options:-

.1, Option ID :- 5,
« 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 4, Option ID : -8

Question ID:- 4




Read the passage and answer the question that follows by choosing the most
appropriate option:

As a result of increasing human population and impact of its activities on
natural resources, Earth's environment has undergone significant changes,
especially during the latter half of the twentieth century.

One of the changes is an increase in the concentration of Carbon dioxide and
other greenhouse gases in the lower layers and Ozone depletion in the upper
layers of the atmosphere causing a gradual increase in surface air temperature.
The Earth has been suffering from fever and the two lead culprits of this
phenomenon are Carbon emissions and Ozone depleting substances.

A warmer world will have both beneficial and harmful effects but poor nations
in the tropics will suffer the most.

Some areas will benefit because of less severe winters, more precipitation in
some dry areas, less precipitation in wet areas and increased food production.
Some plant and animal species adapted to higher temperatures may be able to
expand their population and range.

Cther areas will suffer from excessive heat, lack of water and decreased food
production. Wildfires in forests and grasslands are likely to increase where the
climate becomes drier. Trees would suffer from diseases and pest population
would go up. Plants and animal species, unable to migrate or adapt to higher
temperatures, are likely to be reduced.

Shifts in regional climate will also threaten parks, wild reserves, wetlands and
coral reefs. Other ecosystems likely to be disrupted are polar seas, coastal
wetlands, alpine tundra, and high altitude mountain tops. So climate change
has become one of the prime issues threatening the sustainability of the
World's environment.

What will be the fallout of climate change ?

1. Water levels in oceans will go down.

2. Coral reefs and wetlands will be in danger.
3. Alpine tundra region will be colder.

4. Ecology will not be affected.

Options:-

.1, Option ID :- 13,
« 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 2, Option ID : -14

Question ID:- 1




Read the passage and answer the question that follows by choosing the most
appropriate option:

As a result of increasing human population and impact of its activities on
natural resources, Earth's environment has undergone significant changes,
especially during the latter half of the twentieth century.

One of the changes is an increase in the concentration of Carbon dioxide and
other greenhouse gases in the lower layers and Ozone depletion in the upper
layers of the atmosphere causing a gradual increase in surface air temperature.
The Earth has been suffering from fever and the two lead culprits of this
phenomenon are Carbon emissions and Ozone depleting substances.

A warmer world will have both beneficial and harmful effects but poor nations
in the tropics will suffer the most.

Some areas will benefit because of less severe winters, more precipitation in
some dry areas, less precipitation in wet areas and increased food production.
Some plant and animal species adapted to higher temperatures may be able to
expand their population and range.

Cther areas will suffer from excessive heat, lack of water and decreased food
production. Wildfires in forests and grasslands are likely to increase where the
climate becomes drier. Trees would suffer from diseases and pest population
would go up. Plants and animal species, unable to migrate or adapt to higher
temperatures, are likely to be reduced.

Shifts in regional climate will also threaten parks, wild reserves, wetlands and
coral reefs. Other ecosystems likely to be disrupted are polar seas, coastal
wetlands, alpine tundra, and high altitude mountain tops. So climate change
has become one of the prime issues threatening the sustainability of the
World's environment.

Earth's environment has been impacted by

1. uncontrolled rise in population

2. increasing human population and over-exploitation of natural resourses
3. depleting natural resources

4. overuse of technology

Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 5




Read the passage and answer the question that follows by choosing the most
appropriate option:

As a result of increasing human population and impact of its activities on
natural resources, Earth's environment has undergone significant changes,
especially during the latter half of the twentieth century.

One of the changes is an increase in the concentration of Carbon dioxide and
other greenhouse gases in the lower layers and Ozone depletion in the upper
layers of the atmosphere causing a gradual increase in surface air temperature.
The Earth has been suffering from fever and the two lead culprits of this
phenomenon are Carbon emissions and Ozone depleting substances.

A warmer world will have both beneficial and harmful effects but poor nations
in the tropics will suffer the most.

Some areas will benefit because of less severe winters, more precipitation in
some dry areas, less precipitation in wet areas and increased food production.
Some plant and animal species adapted to higher temperatures may be able to
expand their population and range.

Cther areas will suffer from excessive heat, lack of water and decreased food
production. Wildfires in forests and grasslands are likely to increase where the
climate becomes drier. Trees would suffer from diseases and pest population
would go up. Plants and animal species, unable to migrate or adapt to higher
temperatures, are likely to be reduced.

Shifts in regional climate will also threaten parks, wild reserves, wetlands and
coral reefs. Other ecosystems likely to be disrupted are polar seas, coastal
wetlands, alpine tundra, and high altitude mountain tops. So climate change
has become one of the prime issues threatening the sustainability of the
World's environment.

Choose the pair of words from the following which comes closest in meaning to
‘depletion’ and ‘culprit’ in the context of the above passage.

1. consequence; responsible
2. decrease; irresponsible

3. decline; convict

4, reduction; cause

Options:-

.1, OptionID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 4, Option ID : -20

Subject : Set2 SH2 Gen English_B

Question ID:- 8




Read the passage and answer the question that follows by choosing the most
appropriate option:

Globalisation means an integration of the economy of the country with the
world economy. It involves an increased level of interaction and
interdependence among various peoples as well as countries. In globalisation,
there is free exchange of products, ideas, culture, manpower and other
resources. It brings people together and helps them make the best use of one
another's strengths.

Nationalism is often thought of as identification with one's own nation and
support for its interests, particularly to the exclusion or detriment of the
interests of other nations. It means protection of the interests of the local
people and local industries by reducing the engagement of the individuals and
businesses with the rest of the world. Nationalism often leads to protectionist
measures by the government by imposing high tariff on foreign goods and
services.

However, the world today is highly integrated and international trade plays
an extremely important role in the growth of an economy. Therefore,
Nationalism and Globalisation must exist together as they are like two wheels
of a bicycle. Both have to move together in perfect balance.

The time has come to integrate the best of Nationalism and Globalisation to
create a new world where the interests of all sections of the society are
protected and sustainable development for all is ensured.

What does the author mean by "protectionist measures"?

1. It not only protects the interests of one's own country but also the interests
of ather countries.

2. It is a policy that discourages foreign investments.

3. Itis an idea that integrates the economy of the country with the world
economy.

4. It is a policy that discourages any relation with other countries.

Options:-

.1, Option ID :- 29,
. 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 2, Option ID : -30

Question ID:- 10




Read the passage and answer the question that follows by choosing the most
appropriate option:

Globalisation means an integration of the economy of the country with the
world economy. It involves an increased level of interaction and
interdependence among various peoples as well as countries. In globalisation,
there is free exchange of products, ideas, culture, manpower and other
resources. It brings people together and helps them make the best use of one
another's strengths.

Nationalism is often thought of as identification with one's own nation and
support for its interests, particularly to the exclusion or detriment of the
interests of other nations. It means protection of the interests of the local
people and local industries by reducing the engagement of the individuals
and businesses with the rest of the world. Nationalism often leads to
protectionist measures by the government by imposing high tariff on foreign
goods and services.

However, the world today is highly integrated and international trade plays
an extremely important role in the growth of an economy. Therefore,
Nationalism and Globalisation must exist together as they are like two wheels
of a bicycle. Both have to move together in perfect balance.

The time has come to integrate the best of Nationalism and Globalisation to
create a new world where the interests of all sections of the society are
protected and sustainable development for all is ensured.

What does the author mean by "sustainable development” in the above
passage?

1. all round development
2. integrated development
3. economic growth

4. protectionist growth

Options:-

.1, Option ID :- 37,
. 2, Option ID :- 38,
. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 2, Option ID : -38

Question ID:- 6




Read the passage and answer the question that follows by choosing the most
appropriate option:

Globalisation means an integration of the economy of the country with the
world economy. It involves an increased level of interaction and
interdependence among various peoples as well as countries. In globalisation,
there is free exchange of products, ideas, culture, manpower and other
resources. It brings people together and helps them make the best use of one
another's strengths.

Nationalism is often thought of as identification with one's own nation and
support for its interests, particularly to the exclusion or detriment of the
interests of other nations. It means protection of the interests of the local
people and local industries by reducing the engagement of the individuals and
businesses with the rest of the world. Nationalism often leads to protectionist
measures by the government by imposing high tariff on foreign goods and
services.

However, the world today is highly integrated and international trade plays
an extremely important role in the growth of an economy. Therefore,
Nationalism and Globalisation must exist together as they are like two wheels
of a bicycle. Both have to move together in perfect balance.

The time has come to integrate the best of Nationalism and Globalisation to
create a new world where the interests of all sections of the society are
protected and sustainable development for all is ensured.

Which one of the following statements is false?

1. Globalisation and Nationalism can be complementary to each other.

2. Globalisation is about linking the economy of the country with the world
economy.

3. Protectionist view of Nationalism is good for the country.

4. International trade can be helpful for the growth of a country's economy.

Options:-

.1, Option ID :- 21,
. 2, Option ID :- 22,
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Question ID:- 9




Read the passage and answer the question that follows by choosing the most
appropriate option:

Globalisation means an integration of the economy of the country with the
world economy. It involves an increased level of interaction and
interdependence among various peoples as well as countries. In globalisation,
there is free exchange of products, ideas, culture, manpower and other
resources. It brings people together and helps them make the best use of one
another's strengths.

Nationalism is often thought of as identification with one's own nation and
support for its interests, particularly to the exclusion or detriment of the
interests of other nations. It means protection of the interests of the local
people and local industries by reducing the engagement of the individuals and
businesses with the rest of the world. Nationalism often leads to protectionist
measures by the government by imposing high tariff on foreign goods and
services.

However, the world today is highly integrated and international trade plays
an extremely important role in the growth of an economy. Therefore,
Nationalism and Globalisation must exist together as they are like two wheels
of a bicycle. Both have to move together in perfect balance.

The time has come to integrate the best of Nationalism and Globalisation to
create a new world where the interests of all sections of the society are
protected and sustainable development for all is ensured.

Which one of the following is opposite to the meaning of "detriment"?

1. harm

2. damage
3. remedy

4. advantage

Options:-

.1, Option ID :- 33,
. 2, Option ID :- 34,
. 3, Option ID :- 35,

« 4, Option ID :- 36,
Answer Given:- 4, Option ID : -36

Question ID:- 7




Read the passage and answer the question that follows by choosing the most
appropriate option:

Globalisation means an integration of the economy of the country with the
world economy. It involves an increased level of interaction and
interdependence among various peoples as well as countries. In globalisation,
there is free exchange of products, ideas, culture, manpower and other
resources. It brings people together and helps them make the best use of one
another's strengths.

Nationalism is often thought of as identification with one's own nation and
support for its interests, particularly to the exclusion or detriment of the
interests of other nations. It means protection of the interests of the local
people and local industries by reducing the engagement of the individuals and
businesses with the rest of the world. Nationalism often leads to protectionist
measures by the government by imposing high tariff on foreign goods and

services.

However, the world today is highly integrated and international trade plays
an extremely important role in the growth of an economy. Therefore,
Nationalism and Globalisation must exist together as they are like two wheels
of a bicycle. Both have to move together in perfect balance.

The time has come to integrate the best of Nationalism and Globalisation to
create a new world where the interests of all sections of the society are
protected and sustainable development for all is ensured.

How does globalisation involve interdependence?

1. by opening the country's market to the international companies
2. by building up relations between the countries

3. countries making best use of one another's strengths

4. countries depending on more powerful nations for their economy

Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Subject : Set2 SH2 Gen English_C

Question ID:- 35




This question consists of a sentence which is divided into four parts numbered
(1) to (4). Only one part of the sentence is not acceptable in standard written
English. Identify that part which contains an error.

1. He has squandered his fortune,

2. estranged his friends

3. and ruin his health

4. by his recklessness and extravagance.

Options:-

.1, Option ID :- 137,
« 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 3, Option ID : -139

Question ID:- 31

This question consists of a sentence which is divided into four parts numbered
(1) to (4). Only one part of the sentence is not acceptable in standard written
English. Identify that part which contains an error.

1. The master

2. punished the servant

3. who is very loyal him

4, when he left the work unfinished.

Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
. 3, Option ID :- 123,

« 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123

Question ID:- 42

Choose the alternative which can replace the underlined word without
changing the meaning of the sentence.

It was a facetious remark which failed to make any impression.

1. meaningless
2. reconciliatory
3. witty

4. irrelevant




Options:-

.1, Option ID :- 165,
« 2, Option ID :- 166,
. 3, Option ID :- 167,

« 4, Option ID :- 168,
Answer Given:- 1, Option ID : -165

Question ID:- 48

Fill in the blanks :
Only when ____ failed, the police restorted to .

1. efforts; power

2. power; punishment
3. persuasion; force

4. conviction; violence

Options:-

.1, Option ID :- 189,
« 2, Option ID :- 190,
« 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 3, Option ID : -191

Question ID:- 36

Choose the option which best expresses the meaning of the idiom/phrase
underlined in the sentence.

We talked over the matter for an hour.

1. discussed
2. argued
3. fought
4. quarrelled

Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
« 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 1, Option ID : -141

Question ID:- 28




Of the four given options, choose the most appropriate one.

1. Hardly had they left their house, when it started raining.
2. Hardly they had left their house, it started to rain.

3. Hardly had they left their house, it had started raining.
4. Hardly they left their house, it started raining.

Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
. 3, Option ID :- 111,

« 4, Option ID :- 112,
Answer Given:- 1, Option ID : -109

Question ID:- 23

Choose the option which can be substituted for the given words/sentence.
an associate in office or institution

1. companion
2. colleague
3. accomplice
4. ally

Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,
. 3, Option ID :- 91,

« 4, Option ID :- 92,
Answer Given:- 2, Option ID : -90

Question ID:- 12

Choose the alternative which is closest to the opposite in meaning of the
underlined word in the sentence.

We have no doubt about the veracity of the statement.

1. morality

2. propriety

3. falsity

4. truthfulness

Options:-
.1, Option ID :- 45,




« 2, Option ID :- 46,
. 3, Option ID :- 47,

« 4, Option ID :- 48,
Answer Given:- 3, Option ID : -47

Question ID:- 44

Choose the alternative which can replace the underlined word without
changing the meaning of the sentence.

We should always try to maintain and promote communal amity.

1. bondage

2. understanding
3. friendship

4. contention

Options:-

.1, Option ID :- 173,
« 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- Not Attempted

Question ID:- 22

Choose the option which can be substituted for the given words/sentence.
to congratulate someone in a formal manner

1. solemnize
2. facilitate
3. celebrate
4, felicitate

Options:-

.1, Option ID :- 85,
« 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- Not Attempted

Question ID:- 38




Choose the option which best expresses the meaning of the idiom/phrase
underlined in the sentence.

His most trusted friend proved to be a snake in the grass.

1. cowardly and brutal
2. an unreliable person
3. a hidden enemy

4. low and mean

Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 3, Option ID : -151

Question ID:- 17

Choose the most logical order of sentences from among the four choices to
constuct a coherent paragraph.

A. All great thinkers live and move on a high plane of thought.

B. There is no illuminative genius who did not drink his inspiration from the
functions of ancient tradition.

C. It is only there that they can breathe.

D. It may be spiritual or intellectual pride that is engendered on the high plane
of intellectual life.

1.B,ACD
2.A B D, C
3.A,CBD
4D, CE A

Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 15




Choose the alternative which is closest to the opposite in meaning of the
underlined word in the sentence.

It was rather ingenuous of you to believe a compulsive liar like him.

1. candid
2. innocent
3. naive

4, deceitful

Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
. 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 4, Option ID : -60

Question ID:- 24

Choose the option which can be substituted for the given words/sentence.
a disease of the mind causing an uncentrollable desire to steal

1. claustrophobia
2. kleptomania

3. megalomania
4. schizophrenia

Options:-

.1, Option ID :- 93,
« 2, Option ID :- 94,
. 3, Option ID :- 95,

. 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94

Question ID:- 25

Choose the option which can be substituted for the given words/sentence.
a process involving too much official formality

1. red-tapism
2. diplomacy
3. nepotism

4. bureaucracy

Options:-




.1, Option ID :- 97,
« 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 1, Option ID : -97

Question ID:- 37

Choose the option which best expresses the meaning of the idiom/phrase
underlined in the sentence.

He worked upeon the ignorant villagers on the issue of education.

1. advised
2. influenced
3. ordered
4, dominated

Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
. 3, Option ID :- 147,

« 4, Option ID :- 148,
Answer Given:- 2, Option ID : -146

Question ID:- 11

Choose the alternative which is closest to the opposite in meaning of the
underlined word in the sentence.

He was asked to accelerate the pace of work.

1. check

2. control
3. slacken
4. supervise

Options:-

.1, Option ID :- 41,
« 2, Option ID :- 42,
. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 20




Choose the most logical order of sentences from among the four choices to
constuct a coherent paragraph.

A. The great advantage of early rising is the good start it gives us in our day's
work.

B. Moreover, the early riser also finds time to do some exercise in the fresh
morning air.

C. In the early morning the mind is fresh, so the work done at that time is
generally well done.

D. By beginning so early, he knows that he has plenty of time to thoroughly
do all the work.

1.A,B,CD
2CABD
3.D,.C B A
4. A CEBD

Options:-

.1, Option ID :- 77,
« 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

Question ID:- 14

Choose the alternative which is closest to the opposite in meaning of the
underlined word in the sentence.

He stood gazing at the serene expanse of the sea.

1. scenic
2. noisy

3. clear

4. tranquil

Options:-

.1, Option ID :- 53,
« 2, Option ID :- 54,
. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 2, Option ID : -54

Question ID:- 43




Choose the alternative which can replace the underlined word without
changing the meaning of the sentence.

That young man is quite sanguine about the result of his competitive
examination.

1. pessimistic
2. anxious

3. depressed

4. optimistic

Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

« 4, Option ID :- 172,
Answer Given:- 4, Option ID : -172

Question ID:- 32

This question consists of a sentence which is divided into four parts numbered
(1) to (4). Only one part of the sentence is not acceptable in standard written
English. Identify that part which contains an error.

1. His parents is

2. compelled by poverty

3.to send him abroad

4. 50 that he might earn his own living.

Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

« 4, Option ID :- 128,
Answer Given:- 2, Option ID : -126

Question ID:- 39




Choose the option which best expresses the meaning of the idiom/phrase
underlined in the sentence.

His boss was always breathing down his neck.

1. abusing and ill-treating him

2. watching all his actions closely
3. shouting loudly at him

4. giving him strenuous work

Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
. 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 18

Choose the most logical order of sentences from among the four choices to
constuct a coherent paragraph.

A. Yet man has grown so dependent on them that they have become his
masters.

B. Machines were made to be man's servants.
C. And a time may come when they will rule us altogether.

D. Already most people spend a great amount of time looking after the
machines.

1.B,A D C
2.B,DAC
3.AB,CD
4.D, 8 AC

Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 1, Option ID : -69

Question ID:- 41




Choose the alternative which can replace the underlined word without
changing the meaning of the sentence.

| tried to persuade him to change his mind, but he remained adamant.

1. fixed

2. defensive
3. stubborn
4. aggressive

Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 3, Option ID : -163

Question ID:- 34

The question consists of a sentence which is divided into four parts numbered
(1) to (4). Only one part in each sentence is not acceptable in standard written
English. Identify the part which contains an error.

1. They had played together in infancy;

2. they had worked together in manhood;

3. they were now tottering about and gossip away in the evening of life

4. and in a short time they will probably be buried together in the
neighbouring churchyard.

Options:-

.1, Option ID :- 133,
« 2, Option ID :- 134,
. 3, Option ID :- 135,

« 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 19




Choose the most logical order of sentences from among the four choices to
constuct a coherent paragraph.

A. This applies even to such good things as work or rest.
B. If we do not continue to do it we feel unhappy.
C. The more we do a thing, the more we tend to like doing it.

D. It is easy to acquire bad habits, such as eating too much food or too many
sweets.

1.D,C,B A
2D ACB
3.0, CAEB
4.A CBD

Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

« 4, Option ID :- 76,
Answer Given:- 1, Option ID : -73

Question ID:- 16

Choose the most logical order of sentences from among the four choices to
constuct a coherent paragraph.

A. We speak of it as a mere infirmity of nature
B. We are inclined to look upon bad temper as a very harmless weakness.

C. But, truly speaking, it is one of the most destructive elements in human
nature.

D. Therefore, it is important to tame one's bad temper.

1.A,B,CD
2B ACD
3.D,.C B A
4.B,ADC

Options:-

.1, Option ID :- 61,
« 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 27




Of the four given options, choose the most appropriate one.

1. If you had worked hard, you would top the exam.

2. If you had worked hard, you would have topped the exam.

3. If you worked hard, you would have topped the exam.

4. If you had been worked hard, you would have topped the exam.

Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 2, Option ID : -106

Question ID:- 29

Of the four given options, choose the most appropriate one.

1. Neither of the two men were strong enough to lift the weight.

2. Neither of the two men was stronger enough to lift the weight.
3. Neither of the two men was strong enough to lift the weight.

4. Neither of the two men was strong enough nor to lift the weight.

Options:-

.1, Option ID :- 113,
« 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 3, OptionID : -115

Question ID:- 26

Of the four given options, choose the most appropriate one.

1. One of the boys in the class was asked to bring a chalk from the staff room.
2. One of the boys in the class were asked to bring a chalk from the staff room.
3. One of the boys in the class asked to bring a chalk from the staff room.

4. One of the boys in the class has asked to bring a chalk from the staff room.

Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,
« 4, Option ID :- 104,




Answer Given:- 1, Option ID : -101

Question ID:- 49

Fill in the blanks :

We must explore sources of energy as our supply of fossil fuel has been

1. alternative; depleted
2. guaranteed; over

3. sufficient; increased
4, natural: exhausted

Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
. 3, Option ID :- 195,

« 4, Option ID :- 196,
Answer Given:- 1, Option ID : -193

Question ID:- 45

Choose the alternative which can replace the underlined word without
changing the meaning of the sentence.

The meeting was adjourned after discussing the matter for about two hours.

1. postponed
2. reviewed
3. begun

4. stopped

Options:-

.1, Option ID :- 177,
« 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 1, Option ID : -177

Question ID:- 50




Fill in the blanks :
Education can truly people to on their feet.

1. empower; stand
2. empowers; sit
3. help; work

4. make; help

Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
. 3, Option ID :- 199,

« 4, Option ID :- 200,
Answer Given:- 1, Option ID : -197

Question ID:- 47

Fill in the blanks :
When he narrated his story, | felt for him.

1. tragic ; compassion
2. romantic ; love

3. joyful ; sorry

4. sad ; angry

Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 1, Option ID : -185

Question ID:- 46

Fill in the blanks :

The attempt to robbery was because the woman in the house called up
police and them.

1. prevented; complained
2. checked: signalled

3. foiled; alerted

4. averted; brought

Options:-




.1, Option ID :- 181,
« 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183

Question ID:- 13

Choose the alternative which is closest to the opposite in meaning of the
underlined word in the sentence.

The arrested man made an imaginary story to dodge the police.

1. fanciful
2. fictive
3. real

4, false

Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
. 3, Option ID :- 51,

« 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 33

This question consists of a sentence which is divided into four parts numbered
(1) to (4). Only one part of the sentence is not acceptable in standard written
English. Identify that part which contains an error.

1. But for your help

2. it would not have been possible
3. to finish this work

4. during time.

Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

« 4, Option ID :- 132,
Answer Given:- 2, Option ID : -130

Question ID:- 40




Choose the option which best expresses the meaning of the idiom/phrase
underlined in the sentence.

Brave people never show white feather in the face of difficulties.

1. to show cowardice
2. to show patience

3. to show impatience
4. to hide anger

Options:-

.1, Option ID :- 157,
« 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Question ID:- 21

Choose the option which can be substituted for the given words/sentence.
a poem of mourning

1. eulogy

2. trilogy

3. epitaph
4. elegy

Options:-

.1, Option ID :- 81,
« 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 4, Option ID : -84

Question ID:- 30

Of the four given options, choose the most appropriate one.

1. Many a man does not know his own good deeds.
2. Many a men does not know his own good deeds.
3. Many men does not know his own good deeds.

4. Many a men do not know their own good deeds.

Options:-
.1, Option ID :- 117,




« 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 1, OptionID : -117

Subject : Set2 SH2 Gen Aptitude_A
Question ID:- 55

If ' TIGER' is coded as '71820229" then 'DUCKS' is coded as :

1.23266148
2.32141119
3.32624681
4, 23624168

Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
. 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 4, Option ID : -220

Question ID:- 60

The average expenditure of a person for first five months is T 1700 and next
seven months is T 1800. If he saves T 2900 in these twelve months, then what is
the average monthly income of the person?

1. 1750
2.31850
3.31950
4,32000

Options:-

.1, Option ID :- 237,
« 2, Option ID :- 238,
. 3, Option ID :- 239,

« 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

Question ID:- 52




Find the sum of money which will amount to 310,404 in 6 months at the rate of
8 per cent per anum when the interest is compounded quarterly.

1.%10,000
2.310,100
3.310,200
4.%10,300

Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 1, Option ID : -205

Question ID:- 58

P, Q. R formed a company in partenership. P invested one-third of the capital
while Q invested half of the capital. Rest was invested by R. If the company
earned ¥ 1200 at the end of one year, what was the profit share of R?

1.%180
2.3200
3.3240
4.%300

Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 51

Find the odd term from the following :
BCE, EGJ, HKO, LOT, NSY

1. EGJ

2. 10T
3. HKO
4, NSY

Options:-
.1, Option ID :- 201,




« 2, Option ID :- 202,
. 3, Option ID :- 203,

. 4, Option ID :- 204,
Answer Given:- 2, Option ID : -202

Question ID:- 59

Artifacts : Museum :: Books: 7

1. Printing press
2. Library

3. Shop

4. School

Options:-

.1, Option ID :- 233,
« 2, Option ID :- 234,
. 3, Option ID :- 235,

« 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234

Question ID:- 56

A grocer sells wheat at a profit of 20% and uses weights which are 25% less
than the standard weights. The total gain earned by him is :

1. 60%
2.45%
3.30%
4. 50%

Options:-

.1, Option ID :- 221,
« 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- Not Attempted

Question ID:- 54




For all natural number n, 6n%+6n is divisible by

1.6 only
2.12 only
3.6 and 12 both
4.18 only

Options:-

.1, Option ID :- 213,
« 2, Option ID :- 214,
. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 3, Option ID : -215

Question ID:- 53

There are 4 poles A, B, C and D. Pole B is to the South-West of A, pole Cis to
the East of B and South-East of A and pole D is to the North of C in line with
BA. D is in which direction with respectto A ?

1. North - East
2. South - East
3. North - West
4, North

Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
. 3, Option ID :- 211,

« 4, Option ID :- 212,
Answer Given:- 1, Option ID : -209

Question ID:- 61

Kiran reached a certain place on a Friday and found that she had reached there
on 11" October, which was 3 days before a meeting. The meeting, after being
postponed by 23 days, was held on :

1. Tuesday, 6" November

2. Wednesday, & November
3. Thursday, 7% November
4. Wednesday, 7t November

Options:-
.1, Option ID :- 241,




« 2, Option ID :- 242,
. 3, Option ID :- 243,

. 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62

Find the ratio in which tea of 3 90.00 per kg is to be mixed with tea of 3 120.00
per kg to get a mixture worth ¥ 110.00 per kg.

1, 2
2 22
3. 312
4 2:3

Options:-

.1, Option ID :- 245,
« 2, Option ID :- 246,
. 3, Option ID :- 247,

. 4, Option ID :- 248,
Answer Given:- 1, Option ID : -245

Question ID:- 57

3J&5SLB#6D@PT7E©8Y4*C

If each symbol exchanges its position with its immediate right
element, then how many letters are there in the new sequence which are
immediately followed by a number and preceded by a symbol?

1. One
2. Three
3. Two
4. 7ero

Options:-

.1, Option ID :- 225,
« 2, Option ID :- 226,
. 3, Option ID :- 227,

. 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Subject : Set2 SH2 Gen Aptitude_B

Question ID:- 63




Three of A, B, C, D, E and F are males and the rest are females. They are related
as follows :

A is the brotherof Cand E

B is the sister of D

F is the father of C

C is the wife of D

Which of the following is NOT true?

1.Eis a male
2.Bis a female
3.Dis a male
4. Fis a male

Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
« 3, Option ID :- 251,

. 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64

Three of A, B, C, D, E and F are males and the rest are females. They are related
as follows :

A is the brotherof Cand E

B is the sister of D

F is the father of C

Cis the wife of D

Which of the following is true?

1. C is the sister of F

2. A is the father of B

3. D is the son-in-law of F
4. B is the daughter of C

Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
« 3, Option ID :- 255,

. 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255




Subject : Set2 SH2 Gen Aptitude_C

Question ID:- 69

Bhavya is 6 ranks ahead of Deepak, who ranks twenty fifth in a class of 40. What
is Bhavya's rank from the last?

1. 6t|‘|

2.22nd
3. 25t
4 19th

Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
. 3, Option ID :- 275,

. 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70

The monthly incomes of two families, A and B are in the ratio of 5: 3. If the
income of family B is ¥ 12000, what is the monthly income of A ?

1. 15,000
2.318,000
3.3 20,000
4.% 24,000

Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
« 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Question ID:- 68

There is an 80% increase in an amount in 8 years at simple interest. What will be
the amount received for 6,000 after 2 years at the same rate, when
compounded annually?

1. 7160
2.3 6980
3.37620
4.37260




Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

. 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 72

A shopkeeper marks his articles at such a price that after allowing a discount of
25% on the marked price, he still earns a profit of 10%. The marked price of an
article which costs him T 8400 is :

1.3 12320
2.3 13230
3.312230
4. % 16800

Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 1, Option ID : -285

Question ID:- 65

A train running at the speed of 108 km/hr crosses a 200 m long platform in 15
sec. What is the length of the train?

1.200 m
2.250 m
3.300 m
4,350 m

Options:-

.1, Option ID :- 257,
« 2, Option ID :- 258,
« 3, Option ID :- 259,

« 4, Option ID :- 260,
Answer Given:- 2, Option ID : -258

Question ID:- 67




lce : Water:: Drylce: _?

1. Hydrogen

2. Carbon dioxide
3. Oxygen

4. Nitrogen

Options:-

.1, Option ID :- 265,
« 2, Option ID :- 266,
. 3, Option ID :- 267,

« 4, Option ID :- 268,
Answer Given:- 2, Option ID : -266

Question ID:- 71

A introduces B saying, "He is the husband of the mother of my father.” How is B
related to A?

1. Brother-in-law
2. Brother

3. Grandfather
4, Son-in-law

Options:-

.1, Option ID :- 281,
« 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 3, Option ID : -283

Question ID:- 66

20 kg of water was evaporated from a solution of sugar and water, which had
25% of sugar. The remaining solution has 30% sugar. Find the weight of the
original solution.

1.120 kg
2.80 kg
3.150 kg
4.100 kg

Options:-
.1, Option ID :- 261,
« 2, Option ID :- 262,




. 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 1, Option ID : -261

Subject : Set2 SH2 Gen Aptitude_D

Question ID:- 75

Anita, Babita, Charu, Dalima and Erena are 5 members of a family, born in
different months from August to December. Each of them likes one particular
item out of Sweets, lce-cream, Chocolates, Cakes and Fruits.

Babita who likes Chocolates was born in the last month of the year. Dalima
does not like sweets and she brought cake for Anita who was born in August.
Erena, who likes fruits, was born in the month after Charu was born. Charu does
not like Cakes and Ice-cream and was born in October.

Which combination of month and item is true for Dalima?

1. October - Ice cream

2. September - Ice-cream
3. September - Cake

4. November - Fruits

Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
. 3, Option ID :- 299,

« 4, Option ID :- 300,
Answer Given:- 2, Option ID : -298

Question ID:- 74

Anita, Babita, Charu, Dalima and Erena are 5 members of a family, born in
different months from August to December. Each of them likes one particular
item out of Sweets, lce-cream, Chocolates, Cakes and Fruits.

Babita who likes Chocolates was born in the last month of the year. Dalima
does not like sweets and she brought cake for Anita who was born in August.
Erena, who likes fruits, was born in the month after Charu was born. Charu does
not like Cakes and Ice-cream and was born in October.

Who likes fruits and was born in November?

1. Dalima
2. Anita
3. Bahita
4. Erena

Options:-
.1, Option ID :- 293,




« 2, Option ID :- 294,
. 3, Option ID :- 295,

. 4, Option ID :- 296,
Answer Given:- 4, Option ID : -296

Question ID:- 73

Anita, Babita, Charu, Dalima and Erena are 5 members of a family, born in
different months from August to December. Each of them likes one particular
item out of Sweets, lce-cream, Chocolates, Cakes and Fruits.

Babita who likes Chocolates was born in the last month of the year. Dalima
does not like sweets and she brought cake for Anita who was born in August.
Erena, who likes fruits, was born in the month after Charu was born. Charu does
not like Cakes and lce-cream and was born in October.

Charu likes :

1. lce-cream
2. Sweets

3. Cake

4, Chocolates

Options:-

.1, Option ID :- 289,
« 2, Option ID :- 290,
. 3, Option ID :- 291,

« 4, Option ID :- 292,
Answer Given:- 2, Option ID : -290

Subject : Set2 SH2 Gen Knowledge

Question ID:- 96

Match List | with List 11

List | List 11
A Article 243K |I. State Election Commission

B.Article 243-| |lI. State Finance Commission
C. Article 1. Committee for Metropolitan
2437D Planning

D. Article 243ZE|IV. Committee for District Planning

Choose the correct answer from the options given below:

1.A-IV,B-I,C-1,D-1l
2ZA-ILB-LC-I,D-IV
JA-ILB-IL,C-1LD-IV
4A-1L,B-ILC-IV.D-1

Options:-




.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,

« 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 84

According to Keynes, the Government's policy should be used to
stabilise the level of output and employment.

1. Revenue

2. Redistribution
3. Taxation

4, Fiscal

Options:-

.1, Option ID :- 333,
« 2, Option ID :- 334,
. 3, Option ID :- 335,

. 4, Option ID :- 336,
Answer Given:- Not Attempted

Question ID:- 89

M.S. Subbulakshmi, Abdul Rashid Khan, Bageshwari Qamar are Indian
personalities associated with which art form?

1. Painting
2. Sculpture
3. Music

4. Dance

Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
« 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 88




When is the Waorld Ocean Day observed every year?

1. June 8

2. July 8

3. August 8

4. September 8

Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
« 3, Option ID :- 351,

« 4, Option ID :- 352,
Answer Given:- 1, Option ID : -349

Question ID:- 81

Hargovind Khorana was awarded the Nobel Prize in 1968 for:

1. Economics
2. Physics

3. Chemistry
4, Medicine

Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
. 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 4, Option ID : -324

Question ID:- 79

In 2021, the Inter Parliamentary Union (IPU) and UN Women prepared a map
known as :

1. Gender Inequality : 2021

2. Gender Justice : 2021

3. Women in Politics : 2021

4, Women Role Maodels : 2021

Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
. 3, Option ID :- 315,

« 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313




Question ID:- 95

Which one of the following statements is NOT correct regarding Gram

Nyayalayas?

1. They are deemed to be Court of Judicial Magistrate of First Class
2. They exercise both civil and criminal jurisdiction

3. They are notified in 13 states

4. Presently, 455 Gram Nyayalayas are functional

Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
« 3, Option ID :- 379,

« 4, Option ID :- 380,
Answer Given:- Not Attempted

Question ID:- 99

Which of the following is NOT correct?

1. The changes in the solar output associated with sunspot activities cause
climate change

2. Volcanism is not considered as a cause of climate change

3. Concentration of greenhouse gases in the atmosphere is a major cause of
global warming

4. The annual average near-surface air temperature of the world is
approximately 14°C

Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
« 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394

Question ID:- 90

Hafeez Contractor, Lewis Baker, Charles Correa, Le Corbusier are famous
who contributed significantly to modern styles in Indian

1. Painters, Paintings

2. Dancers, Dance forms

3. Theatre personalities, Theatre
4, Architects, Architecture




Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
« 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Question ID:- 97

Who is credited with painting the Journey of Humanity (2020), certified by the
Guiness Book of World Records as the world's largest painting?

1. Sacha Jafri

2. M.F. Hussain

3. Jeff Koons

4. David Hockney

Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
« 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- Not Attempted

Question ID:- 77

The rain which falls on the windward slope belongs to which category ?

1. Cyclonic

2. Convectional
3. Orographic
4. Frontal

Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
« 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- Not Attempted

Question ID:- 100




Which one of the following statement is NOT correct?

1. The processes that warm the atmosphere due to presence of Green House
Gases are collectively, referred to as the 'Green house effect’

2. Methane is not a Green House Gas

3. The largest concentration of Green House Gases (GHGS) in the atmosphere
is Carbon dioxide

4. Ozone occurs in the stratosphere

Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
« 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Question ID:- 78

What is the horizontal distance between two successive crests of waves ?

1. Wavelength
2. Wave period
3. Wave frequency
4. Wave amplitude

Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 4, Option ID : -312

Question ID:- 92

Indian Space Research Organisation (ISRO) launched India's first Mars Orbiter
Mission, Mangalyan in

1.2017
2.2016
3.20M11
4,.2013

Options:-
.1, Option ID :- 365,
« 2, Option ID :- 366,




. 3, Option ID :- 367,

« 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 94

mirrors are commonly used in vehicles headlights, search lights and
torches.

1. Convex

2. Concave
3. Refraction
4. Spherical

Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
. 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 2, Option ID : -374

Question ID:- 82

In the statement given by Shri Narayan Guru, 'Oru jati, Oru matam, Oru daivam
manushyanu', what does matam mean?

1. brotherhood
2. religion

3. motherland
4. unity

Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 2, Option ID : -326

Question ID:- 86




Consider the following statements regarding balance of trade (BOT).

(i). It is the difference between the value of exports and value of imports of
goods of a country in a given period of time.

(ii). Surplus balance of trade will arise if country exports more goods than what
it imports.

Which of the above statement/s is/are correct?

1. (i) only

2. (i) only

3. Both (i) and (ii)

4, Neither (i) Nor {ii)

Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
« 3, Option ID :- 343,

« 4, Option ID :- 344,
Answer Given:- Not Attempted

Question ID:- 85

Which of the following organizations characteristically supports "Structural
Adjustment Programmes'?

l. BIS (Bank for International Settlements)

Il. WBG (Word Bank Group)

lIl. OECD (Organization of Economic Cooperation and Development)
IV. IMF (International Monetary Fund)

Select the correct answer using the code given below:

1.1and Il only
2.1l and lll only
3.1l and IV only
4.1 and Il only
Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
« 3, Option ID :- 339,

« 4, Option ID :- 340,
Answer Given:- 3, Option ID : -339

Question ID:- 80




Which of the following statements is NOT true for Internet of Things (loT) 7

1. It proved beneficial during the pandemic, especially in pharmaceutical
businesses.

2. It enables remote tracking of machinery.

3. Itis likely to be less useful in post-pandemic phase.

4. It helps in connecting industrial assets to remote operations.

Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- Not Attempted

Question ID:- 76

When was the first edition of Good Governance Index (GGI) released in India?

1. November 26, 2014
2. December 25, 2019
3. November 26, 2019
4, December 25, 2020

Options:-

.1, Option ID :- 301,
« 2, Option ID :- 302,
. 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- Not Attempted

Question ID:- 87

On 29 July every year, public awareness is raised for:

1. Tiger Conservation

2. Lion Conservation

3. Dolphin Conservation
4. Rhino Conservation

Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
. 3, Option ID :- 347,




« 4, Option ID :- 348,
Answer Given:- 1, Option ID : -345

Question ID:- 93

Soap solution appears cloudy due to the presence of

1. Hydrocarbons
2. Micelles

3. Air particles
4. Water ions

Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

« 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 98

Which of the following were jointly awarded the Nobel Peace Prize, 20217

1. David Julius and Ardem Patapoutian
2. Maria Ressa and Dmitry Muratov

3. Benjamin List and David Macmillan
4. Klaus Hasselmann and Giorgio Parisi

Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

. 4, Option ID :- 392,
Answer Given:- 2, Option ID : -390

Question ID:- 83

Which one of the following statements is true about GST?

1. It is a direct tax

2. It became operational in 2015

3. It amalgamated a large number of central and state taxes and cesses
4. It has variances and slabs according to the requirement of states

Options:-
.1, Option ID :- 329,




« 2, Option ID :- 330,
. 3, Option ID :- 331,

. 4, Option ID :- 332,
Answer Given:- 3, Option ID : -331

Question ID:- 91

Which one of the following is correctly matched?

1. Non-proliferation Treaty (NPT) - 1970

2. The Missile Technology Control Regime (MTCR) - 1990
3. Comprehesive Test Ban Treaty (CTBT) - 1992

4. Partial Test Ban Treaty (PTET) - 1995

Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
. 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- Not Attempted

Subject : Set2 SH2 Comp Knowledge

Question ID:- 123

A file stores our work in the computer. Which of the following is not a valid file

extension?

1. .docx
ipg
-Jpeg
..bag

TS I |V

Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
. 3, Option ID :- 491,

. 4, Option ID :- 492,
Answer Given:- 4, Option ID : -492

Question ID:- 104




In MS-Excel, which of the following options is NOT used to rename a
worksheet?

1. Right click on the desired worksheet and click rename
2. Alt+R

3. Double click on the worksheet and rename

4. Click on the desired sheet and right click

Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 4, Option ID : -416

Question ID:- 117

monitors user activity on the internet and transmits that information in
the background to someone else, thus eating the user's internet bandwidth.

1. Operating system
2. Hardware

3. Adware

4. Spyware

Options:-

.1, Option ID :- 465,
« 2, Option ID :- 466,
. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 124

Which one of the following statements is NOT true?

1. CPU is the brain of the computer

2. Printer is an output device, which is optional
3. RAM of a computer is an optional component
4. Mouse is an input device, which is optional

Options:-

.1, Option ID :- 493,
« 2, Option ID :- 494,
. 3, Option ID :- 495,




« 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 121

Which of the following is NOT an open source software?

1. LibreOffice
2. OpenOffice
3. MS-Office
4. Python

Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 103

Switch windows option is available under which tab in an Excel worksheet?

1. Home
2. Data
3. Review
4. View

Options:-

.1, Option ID :- 409,
« 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 118

Which of the following does not print by default in an excel worksheet?

1. Table
2. Grid

3. Graph
4, Chart

Options:-
.1, Option ID :- 469,




. 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 2, Option ID : -470

Question ID:- 119

Which one of the following is done by an antivirus software?

1. Delete cookies periodically

2. Protect the computer system from unauthorised access
3. Remove malicious software from the computer.

4. Hack someone's account.

Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 4, Option ID : -476

Question ID:- 109

tool helps us to copy the format of one paragraph to another
paragraph in a word document.

1. Paste

2. Smart Art

3. Arrange

4, Format Painter

Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
. 3, Option ID :- 435,

. 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 120




Which of the following is an operating system?

1. Quick Heal
2. Linux

3. MS-Word
4, MS-Excel

Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Question ID:- 125

Which one of the following devices is an input device?

1. Monitor

2. Microphone
3. Speaker

4. Printer

Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
. 3, Option ID :- 499,

« 4, Option ID :- 500,
Answer Given:- 2, Option ID : -498

Question ID:- 102

The text and other multimedia content can be edited in the
PowerPoint presentation.

1. slide show
2. slide area

3. slide view

4, slide tab

Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
« 3, Option ID :- 407,
. 4, Option ID :- 408,

ina




Answer Given:- 2, Option ID : -406

Question ID:- 115

A Local Area Network may be connected to internet by a

1. switch
2. packet
3. hub

4. router

Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
« 3, Option ID :- 459,

« 4, Option ID :- 460,
Answer Given:- 4, Option ID : -460

Question ID:- 116

The internet is the largest that connects billions of computers,
smartphones and devices from different continents.

1. WAN
2. MAN
3. LAN
4, PAN

Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 1, Option ID : -461

Question ID:- 107

Charts and Tables can be added to a Word document using tab.

1. Edit

2. Insert
3. Tahle
4. Tools

Options:-
.1, Option ID :- 425,




« 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 105

Which of the following statement is incorrect?

1. Autofill feature can be used to fill in the roll number of the students in a class
2. Text wrap feature can be used to break the text in a cell into multiple lines

3. Conditional formatting can be used to highlight cells that satisfy a criterion
4. All cell references in a formula are "Absolute” by default

Options:-

.1, Option ID :- 417,
« 2, Option ID :- 418,
. 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 2, Option ID : -418

Question ID:- 108

How does the document look on the paper after printing can be seen by the

option.

1. Page layout
2. Web layout
3. Orientation
4. Preview

Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 106




Which of the following options is NOT a formatting task in M5-Excel?

1. Scaling the number in a cell

2. Changing the font of cell content
3. Highlighting the cell content

4. Making the border of the cell

Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 1, Option ID : -421

Question ID:- 113

Which of the following statement about DVD ROM and CD ROM is NQT
correct?

1. DVD ROM stores data on both sides of the disk, while CDROM stores only on
one side

2. DVD ROM uses a laser beam to record and read data, while CD ROM uses
magnetic signals.

3. DVD ROM can store more data than CD ROM

4. Erasable DVD ROM is more expensive than writable CD ROM

Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
« 3, Option ID :- 451,

« 4, Option ID :- 452,
Answer Given:- 2, Option ID : -450

Question ID:- 112

Information in the main memory of the computer system is represented as

1. numbers

2. characters

3. bits and bytes

4, numbers and characters

Options:-
.1, Option ID :- 445,
« 2, Option ID :- 446,




. 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447

Question ID:- 114

Which of the following is a limitation of an anti-virus software?

1. It detects and removes only those computer viruses for which it is
programmed.

2. It detects Viruses, Worms, Trojans, Spyware and Adware.

3. It protects the computer from identity thefts.

4. It blocks unsafe websites and prevents the user from visiting them.

Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
« 3, Option ID :- 455,

« 4, Option ID :- 456,
Answer Given:- 4, Option ID : -456

Question ID:- 111

Which of the following applications cannot be used for virtual {online)
meetings?

1. Google Meet

2. Zoom

3. Microsoft Teams
4. Google Docs

Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
« 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 101

Smart Art option under menu in MS Powerpoint is used to add
mathematical 2-D and 3-D shapes.

1. Insert
2. View
3. Review
4. Design




Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 4, Option ID : -404

Question ID:- 122

The most appropriate method to find the devices connected to the personal
computer is to open the

1. Desktop

2. C Drive

3. Task Manager
4. Control Panel

Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 4, Option ID : -488

Question ID:- 110

In MS-Word, which one of the following options displays a group of related
commands in tabs?

1. Quick Access Toolbar
2. Ribbon

3. Title Bar

4. Status Bar

Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437
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